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GENERAL STUDIES (Code-1262)
WA 37eqaq (hIS-1262)

Time : 3 Hours Maximum Marks : 100
T ;3 S 3TféreRaw afd : 100
Note:

(1) All questions are compulsory.
(2) The number of marks carried by each question is indicated at the endbf the question.
(3) Clearly mention question number and part number before attempting.

(4) The part of the same question must be answered together and must not be interposed between answers to
other questions.

(5) Limit your answer to the world limits mentioned for each part. Divide your time proportionately for each
q uestion.

(6) In case of any discrepancy in the English and Hindiversions, English version willtaken as final.

e

(1) |+t ye7 stfrare 2

(2) 5% e &% ford fo i, 999 & 3fd ¥ Hepq fhd ™ 2

(3) W &1 IW faEd ¥ 9edt, Y99 UE 9N el gHvEd & ol 9 39hT Seeid shifsdl

(4) TF Y TS IEH WM TH Y S {A@y AR o YT % IW B o= | T fom S =i

(5) U&I® U H I VK WA & FER iR HIfSd| s YR Y& WA & fod 9wg @1 fausm
gHfe=aa sifs|

(6) A =TS wd fet foawor & i fagnfa g1, @ Fush foeror stfqq @ S

1. (a) Discussabout the efforts and prospects of river waterways in India four tourism and transport (About

200 words) [7]
(b)  What are the objectives of Chandrayaan -2? (About 100 words) [4]
(c)  Write briefly on any four out of the following (About 40 words each) [1 x 4=4]

(1) Tejas Express
(i) Life expectancy in India
(iii) Varanasi as a Cultural City
(iv) Cultural pluralism in India
(v) IT cities in India
(vi) Golden Quadrangle
1. (a) 9Rd " T¥ed g A & fau F& JTomm 8q T 9 GreHe i giEdt St

(T 200 %) [7]
(b) ESAM-2 % T IR &7 (TFIS 200 IR [4]
(c) Trmfafad fesl ar W i o fafaw: (Y&s T 40 91) [1 x 4=4]
(i) o5 TEEYd

(i) 9Rd ® g yemem

(iii) TERfdsh TR & 9 H qROET
(iv) 9RG ¥ WiEhfds JgaaR

(v) 9Rd o STEL. TR

(vi) ‘wafoi g’
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(b)
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3. (a)

(b)
(©)

3. (a)
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Analyze the major featurs and merits of 'Jammu and Kashmir reorganizations Bill, 2019' passed by

the Indian Parliament (About 200 words) [7]
Explain the role of 'Aayushman Bharat' Scheme for ensuring smooth treatment of poor households
(About 100 words) [4]
Write briefly on any four of the following : (Each in about 40 words) [1 x4=4]

(i) Deen Dayal Gram Jyoti Yojana
(i1)) USA and Iran conflict
(i) Housing for all in India
(iv) Financial inclusion
(v) Pradhan Mantri Kaushal Vikas Yojna

(vi) Ground water depletion in India

IRATT 9% g WIRd ‘ST ud HyHR gAied faet, 2019 &1 yg@ favieden a i w1 uliero

SHITY| (STHT 200 %) (7]
TRe IRaR % §es TAS Bq SN HRA’ A ki fJfHeT w1 Smed wifvul
(T 100 %) (4]
frafafea fesl o w 9im o fafae: (a9 40 3= 9@8®) [1 x 4=4]

() 3 A W S A
(i) oTfewt 9 S gud

(iii) 9Ra H Heer fou emem
(iv) foriar Tmmee

(v) WeEsT el Tkt e
(vi) 9Rd H S &1 &R0

Based on the demographic and human development index data (HDI) for some states in the following

table, what major inference can be derived ? (About 200 words) [7]
Indication Bihar | Haryana | Kerala | Punjab | Uttar Pradesh
Sex Ratio (2011) 918 879 1084 895 912
Sex Ratio at birth (2014-16) 908 832 959 893 882
HDI Ranking (2007-08) 21 9 1 5 18
Analyze the Muslim Women (Protection of Rights on Marrige) Act, 2019, (About 120 words) [4]
Write briefly about the following: (40 words each) [1 x 4=4]

(1) Terrorism and Pakistan
(il) Social Media

(iii) Global Warming

(iv) Organic Farming

f1 aifaet o F© T & SRR 9 AME o™ g@ehie (HDI) 9! & ¥R W &g

ThR F Y@ e FeRel S Hhd €2 (ST 200 IeR) [7]
Tk foer | =f@mn | oa LI IW T
et e/ (2011) 918 879 1084 895 912
S gL Tl A (2014-16) 908 832 959 893 882
HDI I&HT (2007-08) 9 1 5 18

21
G)
) 4



(b)

(©)

(b)

(b)

(b)

(©

(b)

(©)

6. (a)

(b)
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qfeem Afgell (WEHRM ATh Tged 31 ARS) TR, 2019 w1 faveroo Hify) (SR 120 %)
(4]

frfafea w gém ¥ fafeu: [1 x 4=4]
(i) SR UE

(i) HreTe Hifean

(iii) Terere afHT

(iv) Sifaess @t

Throw light on Sustainable Developments Goals (SDGs) set by the United Nations. (About 200
words) [7]
Discuss the strategy of growing thrust on non-conventional energy in India. (About 100 words) [4]
Hge T gr fAuifia devfte fasma ded W g Sifau) (SR 200 I61) [7]
qRd | TR Sl W 9gd S 1 WHITG i 9=l Hifsul (SR 100 715%) [3]
Why is Chadragupta respected as a ruler in India? (About 200 words) [7]

How is the level of ease of doing business in India improving in recent years? (About 125 words)
(4]
Write briefly of any four of the following: (About 50 words each) [1 x4=4]
(i) Maharana Pratap
(i1)) Subhash Chandra Bose
(iii) Dr. APJ Abdul Kalam
(iv) Aurangzeb

(v) Kabir

IRA § TSI 1 Uk I o ®Y H G A B 22 ([T 200 W) [7]
9d | eIt o o6l § AR HH i Geferddl o TR H GUR fhT YRR & W@ ’? (ST 125
=) [4]
ffafed ¥ 9 fegl o) | Tew o faf@e: (98 @ 50 9%) [1 x 4=4]
(1) WHERUM Ydra

(i) g9 =5 9=

(iii) B THS. TFA HaW

(iv) TS

(v) ®aR
While discussing about the Indian diaspora in different countries, underline their role in India's
develpment (About 200 words) [7]
Write briefly on the following: (40 words each) [1 x5=5]

(i) Chhadi Mubarak
(i) Durga Pooja
(iii) Barawafat

(iv) Easter

(v) Buddah Purnima
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Write the uses of the following softwares: (Each 50 words each) [2 x 2=4]
(1 R (i1) Kundali

Write the major features of any four of the following in brief. (Each 40 words each) [1 x4=4]
(1) ISRO

(il) River Ganga

(iii) Harappan Civilization

(iv) Sufi Movement

(v) Lata Mangeshkar

fafe= e o yareh 9RdEl w1 9= w3 gU R o foshe H ITRT iR 1 @ifehd Hif
(ST 200 ITs%) (7]
=1 W Ham o fafae: (yw 40 ) [1 % 5=5]
(i) B FH

(i) T S

(iii) SRR

(iv) TR

v) F5 g

1= dree=R o ST fafeu: (& 50 I%R) [2 x 2=4]
@ R (ii) poet

frafafed # 9 ff<l =R =1 w@ fovma 9am o fafeu: (vee 40 9) [1 x 4=4]
(i) z=

(i) T T

(ili) TS T T

(iv) FH e

(v) ol TR

While discussing the shortcomings of higher education in India, elaborate upon opportunities for its
growth. (About 200 words) [7]

Write briefly on any three of the following: (Each 40 words) [1 % 3=3]
(1) NITI Aayog
(i1) National Medical Commission

(i) Women Education

(iv) Mid-day Meal Scheme

(v) Distance Education

qRd ¥ I=a foren &1 wEE &1 ==l S gU SHeh [ o STaEU Sl AT Hitw

(T 200 %) [7]
frfafaa § 9 fo<l dF W gem § fafaw:  (vaF 40 %) [1 x3=3]
(i) ffa s (i) T fafean smm

(iii) wfgem foram (iv) HEATEA WIS A

(v) e fam

6)
O



